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CrosswordMother Goose & Grim • Mike Peters (Sample)

For Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Hagar the Horrible • Chris Browne

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

Mutts • Rick Kirkman & Jerry Scott (Sample)

No Way Out
 In notrump contracts, declarer frequently refuses to
win the first trick even though he has the ace. This
refusal to win the trick, called a hold-up play, usually
occurs when declarer is under attack in a suit where
he is relatively weak. The purpose of the hold-up is to
interfere with enemy communications.
   The hold-up occurs much less frequently in suit play,
but it can be just as effective as the hold-up in notrump
play. Here is a case in point.
   South reaches five clubs as shown, and West leads
the king of diamonds. If South takes the king with the
ace, he ultimately goes down one. Whenever he re-
turns a diamond, West wins with the jack and shifts to
a low heart. East’s king forces the ace, and declarer
winds up losing two diamonds and a heart.
    But if South ducks the diamond king at trick one, he
makes the contract regardless of what West does next!
    Suppose West continues with a diamond. Declarer
takes his ace, draws trumps and plays a third diamond.
Dummy’s remaining diamonds thus become estab-
lished and easily take care of South’s heart loser.
    Now let’s suppose West shifts to a low heart at trick
two. Declarer wins East’s king with the ace, draws
trumps and returns the ten of hearts. This establishes
dummy’s jack of hearts as a trick, and South avoids a
second diamond loser by discarding the diamond nine
on the heart jack.
    There is no risk attached to ducking the diamond
king. Even if West has the K-Q-J-10 of diamonds, it
makes no difference whether or not East ruffs a dia-
mond continuation at trick two. Either way, South can-
not be stopped from establishing dummy’s fifth dia-
mond as a trick.
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Zits • Jim Borgman & Jerry Scott

Sally Forth • Greg Howard

Bidding Quiz
 1. Pass. Partner has a minimum opening bid, judging

from his one-notrump rebid, and he does not appear to be
enamored with either of your suits. Since a slam is unlikely
under these circumstances, and because there is no good
reason to insist on playing the hand in one of your suits,
the best bet is to pass. Partner’s hand may look something
like: [S] K6 [H] AK7 [D] Q9752 [C] J64, in which case
three notrump would be relatively safe while a slam would
have almost no chance.

 2. Six clubs. You can’t very well settle for less than ei-
ther six clubs or six spades opposite an opening 16- to 18-
point notrump bid — even though partner seems unenthu-
siastic about a slam.

However, since he may easily have better clubs than
spades in this sequence, you should offer him a choice of
suits by jumping to six clubs. Partner may have: [S] K8
[H] K972 [D] AQ94 [C] KJ3, in which case the proper
contract would be six clubs.

3. Six spades. Partner’s two-spade bid showed a hand
in the minimum opening bid range, with three- or four-card
spade support.

However, his jump to four spades shows that his two-
spade bid was on the upper end of the range, and that he
also has four spades — which is about all you need to know
to undertake a slam.

You could use Blackwood first, if you were so minded,
but you’d surely bid a slam whether partner showed one
or two aces in response. Partner’s hand might look some-
thing like: [S] KJ64 [H] 72 [D] AQ853 [C] K10.


